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61) Examplesof............. nouns in English are Joseph, Vienna, and the White House.
1) beautiful 2) plural 3) personal 4) proper

62) Jane quickly brushed her .................. , puton her ................ and went to the office.
1) tooth/ jean 2) tooth/ jeans 3) teeth/jean 4) teeth/ jeans

63) Which underlined word is NOT correct in the following sentence?
If wolves’ natural home is endangered, they may come to villages to hunt sheeps.
1) wolves 2) is 3) villages 4) sheeps

64) Which of the following sentences is correct in writing?
1) We are going to travel to Paris to visit the Eiffel Tower in april.
2) We’re reading a story about a boy called Harry Potter.
3) Did you know that the Taj Mahal is a famous building in northern india?
4) Kim and Jane wore masks on halloween.

65) Atfirst, nobody hada ................. understanding of what to do, but after a while all of us realized
how we should face the problem.
1) clear 2) alive 3) fresh 4) near
66) Nowadays many young people want to donate their .................. to save the lives of those who are at
the end of the line for hope.
1) cells 2) members 3) organs 4) texts
67) The man stopped walking and looked in.................. at us, while we were making strange noises and
playing jokes on each other in the street.
1) power 2) planet 3) liquid 4) wonder
68) The brave soldiers .................. their people during difficult wars.
1) pumped 2) defended 3) lived 4) collected
69) Ididn’t............. want any more coffee, but Drake ordered another one for me in the small cafe.
1) wonderfully 2) actually 3) angrily 4) nationally
70) Saturn is the sixth planet from the Sun and the second-largest one in the Solar System. It has a
beautiful .................. around itself.
1) ring 2) kind 3) observatory 4) earth
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71) Viruses need to be inside a living cell to live and grow. They cannot live ..................
1) together 2) atall 3) healthily 4) on thelr own
72) Asthefirst.......... of rain began to fall, Nader started to run.
1) liquid 2) rings 3) parts 4) drops
73) One of Allah's sign of power is the .................. of heavens and the earth.
1) wonder 2) creation 3) gift 4) donation
Cloze test:
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.
Just about everyone knows that we can't live without blood. And that the blood in our bodies is
........ (74) .........by the heart. But beyond those blood basics, what do you know about that red liquid under
your skin? Blood is important for good ......... (75)......... , because the body depends on a fixed supply of
fuel and oxygen to reach its billions of cells. Blood also ......... (76)......... carbon dioxide and other waste
materials to the lungs, kidneys, and different ........ (T7)ce.. of the human body; from there they are
removed from the body.
74) 1) created 2) protected 3) given 4) pumped
75) 1) health 2) power 3) sign 4) future
76) 1) arrives 2) carries 3) needs 4) pairs
77) 1) plans 2) plains 3) parts 4) places
Reading:
Charles Drew was a doctor. He found a way to store blood. Before his discovery, people who needed
blood died. Dr. Drew “set up” blood banks in England and the United States. His banks helped save
thousands of lives in World War 1lI. In 1950 Dr. Drew was hurt in a car crash in the southern United
States. He was taken to a hospital. He was bleeding a great deal. He needed blood. But black people then
were often refused help. The black man who gave the world a gift of blood died. His gift was not given
to him.
78) According to the passage, which sentence is NOT true?
1) After his discovery no one died. 2) Dr. Drew died because of the bleeding.
3) His discovery helped a lot in World War 1. 4) Dr. Drew worked in England and the United States.
79) Itisunderstood from the passage that Dr. Drew ..................
1) was not given a gift 2) refused to help black people
3) stored black people's blood 4) was a black man
80) According to the passage .................

1) black people gave blood to Dr. Drew 2) Dr. Drew was afraid of donating blood
3) blood was not given to black people 4) Dr. Drew helped people financially
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